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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. SRl gavey o709 999 U9 W A 31 JaEd: o |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. | T A F T E

All the questions are compulsory.

3. TCHH WA 1 IW A T IR-YRAH H & G |

Write the answer to each question in the given answer-book

only.
4, S U H ST GUE €, 37 AU % I UF A & A |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. U 9T % E] 9 IS ®URR B OHE YRR A IS / IR/
I B TR &= 9T & U 1 &l qH |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. Tug U9 HEA 3 TAw U
H 1-13 1
q 14-24 2
q 25-27 3
< 28-30 4
Section Q. Nos. Marks per
question
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7. U9 HHIF 24, 27, 28,29 9 30 U AdIFH THeT ¢ |

Question Nos. 24, 27, 28, 29 and 30 have internal choices.

e - A
SECTION - A
1. OISt ST o &Y SRV o WU |
Write two examples of albuminous seeds. 1

2.  UWd % 9% WIS 5T AT T T I Hecd T 2

What is the special importance of milk secreted by female after

parturition ? 1
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11.

12.

13.

3

mier @t T @R @ A e e % i S deor @ e F, te A

HHISEY S e |

Write phenotype ratio of F, generation obtained from the hybridisation

of pea plant of round yellow and wrinkled green seeds.

SIHIR] &=T T hT T&I0T §aTsd |

Write the symptom of Haemophilia disease.
T ek aR0T TG Y I3 5 4T ?
Which scientist gave the principle of natural selection ?

YT SHIT W 3T T qHSS € ?

What do you mean by Green revolution ?

THI <o 37T & SR § 9 AT T ST eIl € 2

Which bacteria is used for production of acetic acid ?

Y A IRt Rl STl W | T el | i Saro] g ST € 2

Which bacteria is found in root nodules of Leguminous plants ?
ST AT TTEH HT 1 o QU |

Write the function of DNA ligase enzyme.

ST 3T T R AT AG

Write the full name of G.M.O.

oo H TS SUHAST U~eH &7 3Tavaeh 8idl & ?

Why is adenosine deaminase enzyme essential for children ?

STeT UgHOT ¥ B aTel hig &Y SET A % A o @ |

Write names of any two diseases caused by water pollution.

Tl & BIE & T AT

Write any two advantages of forests.

1
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15.

16.

17.

18.

19.

20.

21.

22.

4
Tueg - §
SECTION - B

I3 FHU HEA Fl SUSATEAA TGS €, O DA HE GASd T2
TS |

If the oviducts of a woman have blockage then which function will be
affected ? Explain. 2
T e gl i THYROT & T 37T 7 GSIa 97 ?

What suggestions would you give to conceive an infertile woman ? 2

m-3RUAT UG t-3RTAT & FHAT Bl AT Rl 51 |

Compare the functions of m-RNA & t-RNA. 2

Sig TR H SFPel I T BT Heed FHSS |

Explain the significance of adaptive radiation in evolution. 2

S SR 1 B & o ®9 H UR[ST o G607 H UM 3T T 9 &g ST
T eI S ?

Being a Biology student give your suggestion for alternative source of

protein for cattle food. 2
T3 T IGIOT F TAM & 3T FAT oI T ?
What suggestions will you give to prevent rivers from pollution ? 2

FY H el UG TRl % SUFNT i Th ISEL0T H & FHS |

Explain the role of biotechnology in agriculture by giving an example. 2

STt ST=IeT | g g e THeey |
Explain any two adaptations in aquatic animals. 2

TEHT ST ! Teh ISEL0T & FHI |

Explain commensalism by an example. 2
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24.

25.

26.

27.

5

I3I UH &9 § Gl FU R AR FR S A FEl N G W T TS 2
THTE |
What will be the effect on the number of rats of an area if all the
snakes of the area are destroyed ? Explain. 2
UGYST e FSfiaseieh STq3tl | 3R adred |

3T
TEIH! SR TEHACH TR § IR qdASd |
Give differences between oviparous and viviparous animals. 2

OR

Give differences between homothallic and heterothallic plants. 2
e - 9
SECTION - C
g O U A Hotdd 91§ ? M U YUY I 9T Y AT H1 AR
YAl & 2 THEA |

What are double fertilization and triple fusion ? What structure is

formed by primary endosperm cell ? Explain. 1+2=3

FHHT B FA1E 7 THE I Y S W T AR |

What is dihybrid cross ? Explain it with the help of Punnett square.
1+2=3

JATST SIUAT T 9T € 2 39 dohleh H 1T 3TH alel Shis i Tiedl o

T FHE |

AT
3T1d 91k Eo1t AT 91 € 2 SIUAU WUl T YR Ud Feiv= i GHEE |

What is recombinant DNA technique ? Explain the role of any three

enzymes used in this technique. 1+2=3
OR

What is genetic engineering ? Explain separation and isolation of DNA

fragments. 1+2=3
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oug - §

SECTION - D

28. I HY FEd § 2 ] H oG W HAT i | 7 qHeEd |

37T

Goh HAT B 3T T Fl GO U | Ghs Fdl | 3R TIeiERs]
% HH qaTed |

What is transcription ? Explain the process of transcription in bacteria

with the help of diagram. 1+2+1=4

OR

Explain the process of transcription in eukaryotes with the help of

diagram. Enumerate the functions of RNA polymerase in eukaryotes.

29. a)

b)

1+2+1=4
YT SEI] Hf TAH T B H o G |
TgH ¥ 999 & o IR 39 Iy |

a7

SHIY UEY oh Ok A1 oded | 3§ URT &1 T §A%d Us 3R
e THeed |

qEIE B U S a1t Ueshediss d 81 741 Heied |

Explain with the help of diagram the replication of Retrovirus.
Give four measures for prevention from AIDS. 2+1+1=4
OR

Write the scientific name of opium plant. Draw its diagram and

explain the economic importance of this plant.
Explain harmful effects of alkaloid found in tobacco.

1+1+1+1=4
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30. W H@eAl ® IR TWC| TH NI TH oF H T &R H NG

TEYUT FHlch THY |
SREI

TR ST T I AQU| F T T TR OH G BT g ol Fae h

\’rH{{EI“I"‘I I IThY JHSATRH |

Define food chain. Explain trophic levels in an ecosystem with the help

of linear diagram. 1+2+1=4

OR

Define food web. Explain with linear diagram the energy flow through

different trophic levels. 1+2+1=4
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